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CamocTosiTenbHasa paboTta
1. Berunucnure:

a) arccos_‘g a) arccos( —g)
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2. Pelunte ypaBHeEHME:

a) cost= 0,5 a) cost= -0,5

6) 3cost —3=0 6) 5 — 5cost=0

3. Belunucnure:
a) cos(arccos0,4) a) cos(arccos(-0,4))



PewunTte ypaBHEeHMe: sin t= -0,9

sin t= '014
sint=0,2
sint=0,7
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YpaBHeHue sint = a

1. ITpoBepurs ycioBue | a | <1
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YacTHble cnlydyan ypaBHeHUa sint = a
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[IpMeHun 3HaHuUNA

1. PewwuTe ypaBHeHMe:
a) 6sin2x + sinx = 2
6) 2cosx - 3sinx cosx=0
2. Bbluncnure:

a) sin(arcsin(-0,9)
6) cos(arcsin0,6)
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